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1 The Problem

An instance of the ODE problem is an ordered triple (f, zo,y,) where z,, y, are real numbers, and
where f(x,y) is a function of two variables such that f(z,y) is defined in some neighborhood of

(7o, Yo)-

A solution to the ODE instance (f,z,,%,) is a function F' such that F(z,) = y,, and, for z in
some neighborhood of x,, F(z) is defined and F'(x) = f(x, F(x)).

1.1 Reduction
We can greatly simplify our proofs if we assume that we start at (0,0), and that F'(0) = 0. We
will give a reduction of the general problem to the restricted problem that satisfies these criteria.

It is important to realize that the purpose of this reduction is only to simplify proofs. No simplifi-
cation of the actual calculations results from the reduction, in fact, it would make the calculations
longer.
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The reduction is essentially an affine transformation of the plane, as indicated in Figure 1

Lemma 1.1 Any ODE instance (f,xq,Yyo) can be reduced to an ODE instance (g,0,0) such that
9(0,0) = 0.

Proof: Let m = f(xo,y,). Let g(z,w) = f(z + xy,w + yo + mz) — m, which is defined in a
neighborhood of (0,0). For any function F' defined on a neighborhood of x,, such that F(x,) = yo,
let G(2) = F(z + xy) — yo — mz; note that G is defined on a neighborhood of 0, that G(0) = 0,
and G'(0) = 0. We need to prove that F' is a solution to (f,xo,1,) if and only if G is a solution
to (g,0,0).

Suppose F is a solution to (f,xy,y,). Then
G'(z2) = Fl(z4z)—m
= flz4+x, F(z+x)) —m
f(z+20,G(2) +yo +mz) —m
= 9(2,G(2)) + m—m = g(z,G(2))
That is, G is a solution to (g,0,0).
Conversely, Suppose G is a solution to (g,0,0). Then
F'(z) = G'(z—x)+m
= g(x —xy,G(x — ) + M
= f(z =20+ 20, F(x) —yo — m(x — x0) + Yo + m(x — 7)) + m —m
= f(z,F(z))

That is, F' is a solution to (f,zq,yo). O

2 Runge Kutta Algorithms

A Runge Kutta algorithm for approximating the solution to an ODE takes the following form.
We are given a number s (the order of the algorithm) and constants «, ; for 1 <1i < j <d, (i for
1<i<d,and v; for 1 <j <d.

We will assume that

n o= 0
Z Qij =
1<i<j
S o=
1<i<s

The algorithm is then



kl = hf(mnvyn)

ky, = hf(%m + '71h7 Yn + 04121’51)
kj = h’f(xn + ’th7 Yn + Z ai,jki
1<i<j
Yy = Z ﬁzkz
1<i<s

These constants can be arranged in a Butcher tableau.

Exercise 2.1
(a) Write the Butcher tableau for the third order method we discussed in class.

(b) Euler’s method is actually a Runge Kutta algorithm of order 1. Write the Butcher tableau
for this algorithm. (This is so easy it’s hard.)

3 Power Series Approximation

Without loss of generality, , = y, = 0. Assume that F'(z) = f(z,F(z)) for all = is some
neighborhood of z. We also assume that the Taylor series for F' converges in some neighborhood
of x, and that the Taylor series for f converges in some neighborhood of (0,0). Without loss of
generality, f(0,0) = 0.

There exist constants a,, as, a, such that, for x in some neighborhood of 0:
F(x) = ayx® + a;2° + a,2* + O(|z|”)

Also there exist constants by, by, bso, bor, b1 such that, for (x,y) in some neighborhood of (0,0):

f(2,y) = biot + ba®® + bsox® + boyy + brszy + O(|z]") + O(|z[*[y) + O(ly[*)
Differentiating with respect to x, we obtain

F'(x) = 2a,7 + 3as2® + 4a,2° + O(|z|")

F'(z) = f(z, F(z)), and we can use the Taylor series for F' and f to obtain:

2a, = by

3a; = by + %bm bio

da, = by + %bmbu + %bmbzo + %bilblo
da; =



That is

Gy = %bw
1 1
as = §b20 + gbmbm
1 1 1 2
ay = sto + gblobu + ﬁbmbzo + 405,010
a5 h—

4 Second Order Runge Kutta

A Runge Kutta algorithm is characterized by its Butcher tableau. There are multiple Runge Kutta
algorithm of each order. The Butcher tableaux for the two order 2 methods we have presented in
class are

= O

and 171

O o=

1

We will use the second tableau. Our algorithm is then

ki = hf(@.,yn)
ky = hf(z,+h,y,+ k)
Tpyw = Zp+h
Ynii = Yo+ 3k + 1k,
Lemma 4.1 If f is analytic, the error of the above second order Runge Kutta algorithm is O(h?®).
Proof: Without loss of generality, n =0, , =0, y, = 0, and f(0,0) = 0. Then

f(@,y) = byx+ Oz + |y|)
F(z) = a2*+0(z[")

We need to show that y, = F(x,) + O(h®), where 2, = x, + h = h. We have

kk = 0
k, = hf(h,0)
= byoh® + O(h?)
= 2a,h* + O(h?)
Y = %kl + %kQ
= a,h*+ O(h?)
= F(h)+O(h%)



5 Third Order Runge Kutta

Exercise 5.1 Write the Butcher tableau for the third order Runge Kutta method we discussed in
class.

Exercise 5.2 Prove that the error of that third order method is O(h*) per step.

6 Fourth Order Runge Kutta

We will use the standard RK4 method:

ke = hf(zn,yn)
ky = hf(z,+ 3h,y, + 3ki)
ks = hf(z,+ 3h,y, + 3ks)
ki = hf(xz,+h,y, + ks)
Tpyn = Tp+h
Yotr = Yo+ gk + 2k + 2k, + k)

whose Butcher tableau is

0

1)1

21 2

1 1

210 3

110 0 1
T 1 1 1
6 3 3 6

Lemma 6.1 If f is analytic, the error of the above fourth order Runge Kutta algorithm is O(h®).
Proof: Without loss of generality, n =0, x, =0, y, = 0, and f(0,0) = 0. Then

f@,y) = b+ bya® + bz’ + by + buxy + O(|z]* + |z’ |y| + [y/*)
F(z) = a2+ a2 + ax* + O(|z]°)

We need to show that y, = F(x,) + O(h®), where 2, = x, + h = h. We have



F(h) == a2h2 + a3h3 + a4h4 + O(hS)
= Zbioh” + 2baoh® + $bobioh® 4+ $hsoh® + Ebibigh® + F5beibaoh® + 5567 bioh* + O(R°)

and
k= 0
ky, = hf(ih,3k)
= hf(3h,0)
= 3bioh® + $bah® + hyoh* + O(R°)
ks = hf(3h, k)
= 3bih”® + $baoh® + §hsoh® + $boibaoh® + £bi1bioh* + O(R°)
ke = hf(hky)
= bioh® + byoh® + byoh® + $bo1b1oh® 4 3bgibagh® + 102, bioh® + $bi1bigh’ + O(R?)
yi = (ki + 2k + 2ks + k)

2(3bioh® + 2byoh® + 3bsoh* + by bigh® + $beibah® 4+ 10%,b1oh* + 3b11byh*) + O(R®)
= F(h)+O®h)

7 “Big Oh” for Functions which Converge to Zero

The precise mathematical definition of O(n?), or, for that matter, O(f(n)) where f is any positive
increasing function, can be found in any computer science textbook. But what about decreasing
functions?

Exercise 7.1 What is the precise mathematical definition of O(2), or for that matter, O(f(n)),
where f(n) — 0 as n — oo ? Is the same as for increasing functions?

Exercise 7.2 What is the precise mathematical definition of O(h?), or, for that matter, O(f(h)),
where f(h) — 0 as h — 07 You clearly cannot use the same definition as before.

Exercise 7.3 We say that Newton’s method is quadratically convergent. Does this mean that
the error is O(n?), where n is the number of iterations? Can you express the true meaning of
quadratic convergence in “big Oh” terms?

8 Vector Functions

Why can’t F(x) be a vector of n variables? Answer, it can. For example, a ballistic problem
involving launching a rocket needs variables for its position and variables for its velocity. If the
acceleration increases as the fuel is used up, the ODE is also time dependent, as opposed to
problems involving passive falling bodies.

The standard RK4 method has error O(h®) even for vector examples.



